0, (it Civede F"vs-(—

A3
GSE PreCalculus Yo, ) "'T '
) Guided Notes C —ﬁ/,_ ‘F‘m \
,“0
<j Sum/Difference Identities mr;k_ Cr/y, l/z.) ﬁ’%

sin (o) = sino cosPt coso sin

cos (a£f3) = cosa cosP F sinasinf

tano + tan 8

fan {or£f) = 1 Ftanatan g

Example 1:md difference identitie‘:}o find the exact value of sinfcos/tan
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Example @ e expression using sin, cos, or tan: sin340°cos 50¢=xos340°sin 50°
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Example 3f Find the exact value ofghe trig function given:
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Find cos(u+v) = (LodW fosv “~ Sinusiny
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Example 4: Verify sin{x + ) + sin{x — —) sin x
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